Ring marked ...

50: 50 cm x 50 cm test pit

1.1 mx 1 m test pit

2: 2 mx 2 m test pit :

gL ¥ 1. Set up one stake and hook the first (unmarked)

Unmarked
first ring

Pl T e Mg ring over it. Use the second ring (marked ‘50’
________ fora50 cm x 50 cm, ‘1’ fora 1 m x 1 m, ‘2’ for
“““““““““ 0 a2 m x 2 m test pit) to determine the orienta-
tion of the test pit and the location of the
Rings with second stake.

Unmarked

o IR W A the second stake. Use the correspondingly

>

the same
7?5??%(?22) 2. Hook the third ring (marked ‘50’, ‘1’ or ‘2) over

L marked second ring to determine the location
------------- t e & of the third stake.

-----

Unmarked 3. Swap the first and third ring to determine the

/ﬁﬁrs”mg\c location of the fourth stake.

Note: The rings measure 35 mm (1% inches) in
g =" diameter.
U © Keep out of reach of children. This is not a toy.




